INEE R #H0m (B K)

BEIEML| FEE4A a4 L - 4 L=
1 Bx W 10.00 1 2 4
2 5 KB 10.32 1 3 7
3 oe EF 10.63 2 3 3
4 TE HE 10.86 3 3 4
5 = BF 11.09 2 2 6
6 #P BX 11.23 4 3 5
7 NG BT 11.38 1 1 4
8 ik =8 11.70 3 2 5
9 RE 3FE 11.74 5 3 6
10 B AKX 11.82 6 3 2
11 B8E FF 11.88 2 1 6
12 tich HER 11.98 4 2 7
13 RE RBE 12.18 3 1 5
14 mE HR 12.20 5 2 2
15 =5 B 12.73 4 1 7
16 HE HOF 17.20 6 2 3
17 gl A7MF 20.64 5 1 2
18 o x 1 3




INFEHE 2L F50m

BEIES| HEES A4 L % 4 L—y
1 gk 2k 8.21 1 2 7
2 g 22 8.32 1 3 6
3 b 371 53 8.61 2 3 4
4 AH ¥EF 8.62 2 2 3
5 hE FW 8.83 3 3 7
6 ks T2 8.84 4 3 3
7 BR = 9.58 3 2 4
8 Tk &= 9.80 1 1 7
9 R L 9.87 2 1 4
10 B B 10.20 3 1 3
11 TB FH 10.69 4 2 6
12 BR BK 10.70 4 1 6
13 HE WBHR 11.00 5 2 5
14 IX BHH 11.28 5 1 5
15 mH BE x 1 2
16 28 #%E x 3 5




IMNEBF50m

BEELE EBES RN & i L—>
1 =i HE 7.12 1 8 4
2 2R X& 7.65 1 7 5
3 K FMA 7.70 2 8 5
3 E& 7.83 2 7 6
5 EE BE 8.05 2 6 5
6 #P X 8.05 1 6 7
7 XAR & 8.16 3 8 6
8 W& ma 8.23 3 6 6
9 tE KT 8.24 3 7 3
10 “GH BE 8.28 1 5 6
11 EH EH 8.30 4 7 7
12 a5 BF 8.30 4 8 7
13 RS BE 8.33 2 5 7
14 L/l 8.50 3 5 5
15 R B 8.53 1 4 5
16 1= EER 8.69 4 5 3
17 2 KR 8.75 2 4 4
18 #0O BiR 8.92 3 4 6
19 el -3 9.02 5 8 3
20 mE E 9.17 4 4 7
21 o N ] 9.28 1 1 2
22 xX&s —FK 9.38 5 4 3
23 aH TiE 9.41 1 2 7
24 Wk R/iE 9.48 1 3 3
25 N B 9.59 2 2 2
26 ED KR 9.60 3 2 6
27 i e 9.62 2 3 7
28 RE &3 9.97 4 2 3
29 &8 B 10.00 5 5 4
30 KA J\A 10.09 2 1 3
31 EBE E 10.11 3 3 6




32 TE " 10.23 3 1 7
33 =E P 10.25 4 1 4
34 iR 5K 10.25 5 2 4
35 KAR EE 10.28 4 3 4
36 HE E— 10.37 5 3 2
37 &2 f 10.44 6 4 2
38 BA B 10.78 5 1 5
39 H\E &EZE 10.85 6 1 6
40 BEH H& 10.94 4 6 3
41 hE EH 11.22 6 3 5
42 Il #=E 12.45 6 2 5
43 fhE BEA x 6 4
44 I*x HE R 7 4




— % 5B F50m

BeaR6| BBEA B4 L & # L—r

1 ¥ BH 7.60 1 8
— B F50m

BEIEN HBEEA a4 L % # L—y
1 X5 #F 6.33 1 2 5
2 2H —%F 6.39 2 2 7
3 28 -5 6.50 3 2 4
4 RZH XF 6.58 1 1 4
5 XkE Hth 6.59 2 1 5
6 K BR 6.61 4 2 2
7 KA 8% 7.60 3 1 3
8 & fth 7.81 4 1 2
9 =8 FE 9.70 5 1 6
10 REx £ 14.87 6 1 7
11 ¥2H —IE x 2 3
12 A #X x 2 6




INEZF1500m

BEELL HEHER B4 L = L—y
1 @ik VFEY 5.32.40 5 6
2 PR B|E 5.42.47 9 2
3 BE B2 5.42.95 10 17
4 BH &2 5.58.57 14 3
5 ®F DB 6.50.22 15 4
6 & OEm R 1
INE B F1500m
BEEE BWERES A4 L i L—y
1 & Is 45417 1 14
2 TEH =3} 5.02.80 2 15
3 WIR #A 5.02.87 3 11
4 fhHE K# 5.31.53 4 10
5 EHH Bt 5.39.38 6 7
6 Fh Z=X 5.41.66 7 12
7 KE M 5.42.25 8 5
8 %6 88 5.50.59 11 8
9 1EH ER 5.55.25 12 16
10 B & 5.55.39 13 9
11 AH HBAS /4 13




— %% F1500m

BEEL| BHBEEA RN ¢ L—y

1 B2 BF x 1
— % B F1500m

BEMRAL mBEA 24 L v L—
1 Wk AH 4.35.58 1 7
2 & s 4.36.06 2 2
3 KE IEE 451,02 3 4
4 #F BE 4.56.90 4 13
5 XKig BE 5.08.96 5 9
6 ®F B/ 5.19.09 6 5
7 HE 3#— 5.24.45 7 10
8 HE /— 5.30.41 8 3
9 Eg 2 5.51.43 9 6
10 gk Ha 6.24.30 10 11
11 e #3H 6.33.19 11 12
12 BE RR /4 8




—#8%F300m

BEEEL| FEBEES A4 I - | L—y
1 ik =8 50.01 1 1 5
2 #ix vFEY 50.03 2 1 3
3 IR R 50.18 3 1 4
4 F#E @A V4 1 6

— % 53 F300m

BEIER| WHES 84 L & # L—y
1 £H BWAZ 44.71 1 2 4
2 B3 WX 47.39 2 2 6
3 IR e 47.84 3 2 7
4 K+ B 48.47 4 2 8
5 B3 mX 52.55 5 2 5
6 2R KA 53.68 6 2 2
7 B & 53.91 7 2 3




INEZF100m

BEIEM| BEESA B4 L & # L—y
1 mpE 2k 15.79 1 2 3
2 a0 # 16.74 2 2 4
3 AH ¥ 16.87 1 1 4
4 BH R=E 17.37 2 1 2
5 EBE T2 17.43 3 2 7
6 h¥ FY 17.96 4 2 6
7 B 2 19.03 3 1 5
8 ER BK 20.52 4 1 7
9 BX B 21.03 5 1 3
10 F EB R 1 6
11 2 5




INEBF100m

BEmEa HEES 24 L & | L—y
1 fafE] HER 13.56 1 5 5
2 Bax AKX 14.16 2 5 4
3 EE HR 14.53 3 5 6
4 2R X% 14.64 1 4 5
5 &2 & 14.95 2 4 3
6 IR &g 14.98 4 5 7
7 EHF £33 15.06 5 5 3
8 #HPF #X 15.79 1 3 3
9 EX BE 15.81 3 4 4
10 tPE RAT 15.82 4 4 7
11 1T g 16.02 2 3 5
12 hEF Bt 16.20 1 1 5
13 EH BR 16.22 2 1 2
14 KE M 16.35 1 2 4
15 EH EBR 16.50 3 3 6
16 = & 16.67 4 3 4
17 “&EH BF 16.82 5 3 2
18 BB X 16.87 5 4 2
19 EZR BE 16.91 2 2 2
20 = EEER 17.49 3 2 3
21 #0O BF 17.66 3 1 7
22 wf #&a 17.88 6 5 2
23 FHik BA 17.94 4 1 4
24 B8 5% 18.06 6 3 7
25 e 2 18.15 4 2 6
26 xE — K 18.37 5 1 3
27 R L 18.54 5 2 7
28 H R 18.75 6 1 6
29 EHw B 19.22 6 4 6
30 &5 BA 20.65 6 2 5




— 824 F100m

mBE A

84 L

B

X XK

14.44

6

RE BEF

14.72

7

— B F100m

BAIEA

A A

34 L

&

3
\l

1

REA XX

12.07

-y

R E&

13.04

o N

13.15

KEF EE

13.38

H LR

14.03

[ N 13

e ®EHN

(2= I == T NN = > T B N /% )

Mh EH

Ek BR

11

Ak BA

NIR|R|R|R|o|s]|e|n

NIRRT

N | O | s WW RN O




INE LT F1000m

BEIRAL mRER a4 L - | L—y
1 A0 # 4.04.54 2 1 1
2 A+E B 4.11.85 3 1 2
3 F+E £ 4.18.95 6 1 3

INEEB F1000m

BEIELL mREA a4 L - i L=y
1 R #A 3.26.35 1 1 9
2 EE & 4.12.04 4 1 8
3 e B 41221 5 1 6
4 & R | 44850 7 1 4
5 En 8 451.10 8 1 7
6 287 # x 1 5




— &2 F1000m

BEIRR BHEESA B4 L = #A L—>
1 AT #HEF 4.22.98 8 1 1
2 Kig #Hk x 1 2

—#& 5 F1000m

BERt| mEESR B4 L p = # L—
1 ==Y 1 2.55.59 1 1 9
2 M@ &iE 3.02.12 2 1 3
3 RH XF 3.18.57 3 1 8
4 2R —IE 3.32.72 4 1 4
5 28 —%F 4.14.36 5 1 5
6 kH# B 4.18.24 6 1 10
7 28 -9 4.21.40 7 1 6
8 A #X x 1 7




273)—1JL—

VARG F—LA A4 L -1 L—
1 miET77sU— 1.00.33 1 7
2 FERI7IY— 1.00.58 2 3
3 =Eo7s— 1.02.91 3 4
4 KARI7I— 1.03.05 4 5
4 BT 7s)— 1.40.71 5 6




4 X 100mR

BE IR F— LB 24 L & -
1 5% Lo 56.97 1 2
2 REX (B) 1.05.40 2 5
3 REX (A) 1.0759 3 7
4 =REER 1.10.53 4 6
5 REX(C) x 3
6 BA. . Bk, Wmeh & 4




